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(c)Detailed proposals are awaited. 

(d)Does not arise. 

Adverse Effect on Alloy Steel Plants Due 

to Fall in Rupee 

1228. SHRI JIBON ROY: Will the 

Minister of STEEL be pleased to state: 

(a) whether it is a fact that the recent fall 

in the value of rupee in relation to dollar has 

adversely affected those Alloy Steel Plants 

which are dependent on imported raw 

materials; 

(b) if so, the approximate amount of cost 

escalation per tonne of special steel in public 

and private sector plants; and 

(c) in what manner the Ministry is 

contemplating to offset the incresed cost? 

THE MINISTER OF STATE OF THE 

MINISTRY OF STEEL (SHRI SANTOSH 

MOHAN DEV): (a) A fall in the value of 

rupee will lead to an increase in import costs, 

ceteris paribus. However, no representations 

in this regard have been received from Alloy 

Steel Plants so far. 

(b) and (c) The extent of increase in cost 

per tonne of special steel would depend upon 

the extent of dependence on imports. As this 

Ministry has not received any representation 

in this matter, there is no proposal to offset 

the increased cost presently under the 

consideration of this Ministry. 

��;� ���� ���+ �+  �!0 ��:�  �e
  �� 
��f;# 

1229. �� �3 ��!: E�
 �
�
 �7�
T� �
	
� 
�70� �ह ��
�� 	� 	L �
 	�43� �	:  

(	) E�
 ��	
� �� 	#� )� �
�#�� #
M
 
�
q��� 	
 ��
  3
�� 	�  � � 	�J �
yWc 	�
�
 
ह!,���	�  �
q�� �� ��, �4 �
q���	 %� )5:�� 
�
q���	 �
e
 � ��� 	� �,W
 +�
� 	� �
 �ह� 
ह!; 

(D) ��� ह
7,�� �U�7�7T� R�O�
 E�
 ह!; 

(3) |�
 �
yWc �	� �
#
3 2;

 ��4�� Q
�
 
�	� 
M> �4 	�
�
 3�
 ;
; 

(घ) E�
 ��	
� �� +	
� 	�  &7	C� +��
M> 
�	0 	��� ह!;%� 

(C) ��� �ह<,�� )�	�  E�
 	
�c ह!;%�  E�
 
��	
� #�
B� �4 |�� &7	C� �	0 	��
 :
ह�3�?  

 ��� �,���� �����  ,'�!
 (��;� ����.)  4 
��9
  ,'� (L�.�( �����$ �3>) : (	) %� (D) 
��,ह
7 � #
M
j7 �U�
�� 	�  �7�7T �4 �

�c �
B}�� 
,��W	 2�=�7T
� %� +�,Wc ���M� Q
�
 +	
�,� 
�
yWc +��
���� �4 )� RT ह! �  

(3) �,W
 �
#
3 �� �
B}�� ,��W	 2�=�7T
� %� 
+�,Wc ���M� 	�  �
q�� �� 
M> 1973,1986 %� 
1993 �4 2�D  #
���� ,��W	 �
yWc �	� ;� �  

(घ) ��,�ह< �  

(C) �
yWc �,W
 �
#
3 Q
�
 �
B}�� ,��W	 
2�=�7T
� %� +�,Wc ���M� 	�  �
q�� �� &
�T	 
'� �4 �	� �
�� ह! �  

�+�  4 �3�!\+�E� ��!+	 

1230. �3.��	
 �$  ��  Gह3'�: E�
 �
�
 
�7�
T� �
	
� �70� �ह ��
�� 	� 	L �
 	�43� �	:  

(	) ��, �4 ��� ���Y	 	
 ��� 	� �
$�-

� 
�7s�
 E�
 ह!; 

(D) �� 	
 ��� �4 +�� 
M> �	��� 6
0� 	� 
�
�D 
 �� �
 ह! ; 

(3) �� 	
 ��� �4 +�� 
M> �	��� 6
0� 	� 
�Ih ��
 �� 
 ह!;%�  

(घ) �	��� �Ih ��
T
�� �� ��� �����3
� ह!?  

 ��� �,���� �����  ,'�!
 (��;� ����. �I� 
�,&�( �� ����.)  4 ��9
  ,'� (�$  ��� �Q!	�): (	) 
�� (घ) 2�D  #
���� �	��	� �,W
 ���M� 
(2.#
.�.�,.�.) Q
�
 �� 3J ��:�
 	�  2�=�
� 
�{ ह
  �7�������/+Oe��3	� %� {
�y�� 
�
�Y�� ह��= 184700 +
�, W��
 

 � 1379 
2�=����� ��� ���Y	 ह! � �
$�

� K�;�� �

�c 
	�  '� �4 �7 8 ह! � (��*+ �+�N0) 
M> 1994-95 	�  
�O�
� �Ih ��
 +
h�	*Pj7 	� �7s�
 90734 ;< � 
2�D  #
���� �	��	� �,W
 ���M� Q
�
 
�����3
� �Ih ��
T
���� 	�  �7�7T �4 ��:�
 �ह< �D� 
�
�� ह! �  

 


